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Revision of

Rules

The khabar should agree with its mubtada’in number and

gender if the khabar is i’y-&i (a derived houn).

Here :§-“«3$ is applied to: \ﬂ-,
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If the khabaris not 8:«13 it is not required to agree.
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1. Which of the following kAabars are derived nouns and
underived nouns? Place a (\/) in the right option.

A o
[ A “w-s 0 -
1)
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2. Pick a suitable khabar for the following mubtada’s from

the options given:

(W;"/umf)

i | o)

o o
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G [ 3

(0]
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3. Identify the ismu /-faa”ik from the following khabars
and write down the hidden pronoun they bear:

2 - R -
b Qb
. -
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3

i
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4. Identify the ismu /-maf uuk from the following khabars
and write down the hidden pronoun they bear:

Bl IO

a8 - }/ -
7 - .
- -

R ERGAAR]
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5. Which of these two khabars is a derived noun?:

it

6. Replace the following khabars with a derived noun:

RS RESA]

ﬁc/ ~0 R N
KT
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7. Circle the igwiv & in the following sentence and

complete it with a khabar that is igeivs 4w :

A 2 ° 2R - - B -]

- - - z -

8. Complete the two Hadliths with their khabars:

o & e - od
Koy 5l S ¢ W |
"g ¥ ,: // O/~/ @
RIBT-E P D Oy
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9. Write two sentences from your own composition using

A 0/°
C—mj‘ as mubtada’

In the first sentence the khabar should be a derived noun
and in the second, an underived noun.

A 0/°
S|

A 0/°
S|
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1. Which of the following kAabars are derived nouns and
underived nouns?
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Derived Underived
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2. Pick a suitable khabar for the following mubtadas from
the options given:

10
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3. Identify the ismu /-faa”ik from the following khabars
and write down the hidden pronoun they bear:

4. Identify the ismu /-maf uuk from the following khabars
and write down the hidden pronoun they bear:

.

By e ad) Ol

.

2 b fed
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5. Which of these two khabars is a derived noun?:

8

8 one é\-ﬁaiﬂ\

gw‘ﬁ\

6. Replace the following khabars with a derived noun:

PRRREwA]
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7. Circle the igwiv & in the following sentence and

complete it with a khabar that is igeivs 4w :

2R vl
g e NS Ay, .u\;;iﬁ\

8. Complete the two Hadliths with their khabars:

o 8 ¢, 5 o . od
QTS ¥ g Ui NG W |

9. Write two sentences from your own composition using
2 0/°
C«-:J‘ as mubtada’ In the first sentence the khabar

should be a derived noun and in the second, an underived
houn.
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